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Candidate Name

Venue Name

Exam Date 21/04/2022
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ISubject CGLE 2021 Tier |

Section : General Intelligence and Reasoning

Q1 T el & § 98 T o o g 3ol F uyig (2) & WA W a1 gadl B
14, 20, 34, 72, 182, ?
Ans X 1.580
% 2.308
7 3.380
7 4.508

Question ID : 65497844193
Status : Answered
Chosen Option : 4

Q.2 us Sifafy § Yz o1 ufvey #1d g, T Afe, SRt 3 $g1, a5 A TG 31 o bt
A 1 YT BT SR | T HEY B

Ans X 1,989
X 2. TR g6
2 3. urdt
7 4. Sl

Question ID : 65497842674
Status : Not Answered
Chosen Option : --
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Question ID : 65497842685
Status : Answered
Chosen Option : 2
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Question ID : 65497842791
Status : Marked For Review
Chosen Option : 1

Q.5 T fAIf3d Be YT §, "MOHAN' BT 39-45-24-3-42 & U § Heas bl oITdT g 3%

'KABIR' I 33-3- s-z7-54$wﬁm%mm%l It He Ut §, 'RAGHU' &t fore
¥ | Heds fear smgm?

Ans X 1.36-2-14-24-42
< 2.36-3-14-16-63
7 3. 54-3-21-24-63
< 4.54-2-21-16-42

Question ID : 65497842166
Status : Answered
Chosen Option : 3

Q.6 faw T wHitemvur 3t Agfa w1 & e {54 31 gl &t smow & sgen s Tnfge?
13+15x8 +96-4=109
Ans X 1. -3R+

Question ID : 65497844198
Status : Answered
Chosen Option : 3




N QW 1T YC ML |, DI N W9 Ui 15 DIY @ VX DI OHIE N 98 IR Wi UM Er eI LA

3 'Tiger Is A Big Cat' 81 'India' & forg fFafufaa & @ 5 we &1 wawr fosar man 82
Ans X 1.Gim

7 2. Tim
K 3.Kim
< 4. Dim

Question ID : 65497842874
Status : Answered
Chosen Option : 2

Q8 3 advr & Pt R & GuR 'AB' W W@ I §, & & ¢ wgly ¥ agvr F P @ vt
F TAT FLI

A
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Question ID : 65497842688
Status : Answered
Chosen Option : 4
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Question ID : 65497842184
Status : Answered
Chosen Option : 3

Q.10 g fHRt WS & 80% BT A 768 §, @ ST T-IT P 5% BT 40% THa=1 2

Ans

K 1.135
K 2.16.4

7 3.20.6
& 4.19.2

Question ID : 65497842781
Status : Answered
Chosen Option : 4




N ITTAINITEC XTIV YW1 XTQININ S7XTT Y2 INIY 19T QI XISHINTTL (1Y) 921 7101 ) Wi v 11 It

Ans

ECGE AR CRu G
8+48+12x5-13=29
* 1.12 3R 13
7 2.83R 12
% 3.13 3R 8
¥ 4.83R5

Question ID : 65497842682
Status : Answered
Chosen Option : 2

Q12 3HgRY F I HaleH FT Ta- PIFoTE, R § 1% e & fraa wiel & waes w0 d @A

Ans

W e gut gt et
IMM_ _ILEl__OBI__IMMO_ _LE
2% 1. BOMLMEIB
7 2. OBMMLEBI
7< 3. OBLMLBIE
,?( 4. BOLMLIEB

Question ID : 65497843582
Status : Answered
Chosen Option : 2

13 37 Rmpew #1 Tt F B & 75 gy wReafea ¥ (AW #1 Al 7@ 8

Ans

5

x| DR
v2 | i

1
X3 )
x| EHHPE

Question ID : 65497842889
Status : Not Answered
Chosen Option : --




W17 Y mm‘-“’z\p IQY VI @,y IVIT19 X ST IMXT1 7T IMX1 AYWIX XD XTHITT @ VIIX QY2 1Nt el vl
ST ER-TYE BT 99 B

< 1.CEV

% 2. KMN

Ans

7 3. MPI
% 4.QSH

Question ID : 65497842870
Status : Answered
Chosen Option : 3

Q.15 ﬁqwq%ﬁwﬁﬁﬁwar&n-wmmaﬁa‘rﬁa siEar ¥ uyfug (2) & R_F W an
THa1 B

CLAY, DIFX, EFKW, FCPV, ?
X 1. HZUW
X 2.HUZT
 3.GZUU
X 4.6UzU

Ans

Question ID : 65497844181
Status : Answered
Chosen Option : 3

Q.16 Tw fAfda Ge yrar &, 'BLUES' &1 *HVFOY' frar sirar 8 1 3t e urwr &, 'FORCED' %t
a1 fera smem?
7 1. WVXILU

25 2. ULIXVW
25 3. XVWLIU
75 4. WVXJKU

Ans

Question ID : 65497843579
Status : Answered
Chosen Option : 1

Q.17 m"fqﬁ&@rr—ﬁ?mmﬁ!ﬁﬁrﬁmm%lwmmmﬂﬁ'{:‘mmﬁm
T welm 9T geml

EPEIEH

K2 A
v3 D
K4 E

Ans

Question ID : 65497844201
Status : Answered
Chosen Option : 3




W 1V QYR VY IYYWIUHT 1 XT HE XTI YITTY VI TTAINITEA AVIE A AAYTUY? 1970 (1) Y7 T4 ¥X vl L

gl
74,101, 128, 155, ?
Ans X 1.198
7 2.182
% 3.173
x 4.210

Question ID : 65497842879
Status : Answered
Chosen Option : 2

Q.19 TR i, H, 1, J SR K, T T & 9T ST IR 300 $5 B iR SRHE BT IS T H R
JIdr T A TE HHI RS &1 1, H P P T 3181 J F Sib ¢ B doT 82

Ans X 1.J
K 2.H
3.1
X 4K

Question ID : 65497842675
Status : Answered
Chosen Option : 3

Q.20 fow 7 FHY SR fAewul Bt eargde ¢ a8 A gU i Hu & § 18 e 9@ g,
Y& E 9% AR T g 9t A i vl 2 2, w6 w e et F & s

J e =) 1 TIfbe T A SgaRu 3 B

DY %

PO Pald, |

qma@,w?%n

forsepd: R

. PO UIP, Fard ¢

I. $ T, 1% B

Ans X 1.7 d B | SR A8 I SR AT 5

XK 2. Pad B | TR BT B

7 3. Ty | 3R 11 ST SFERUI v B

X 4. e By |1 IR0 BT B

Question ID : 65497844191
Status : Answered
Chosen Option : 3




N T OXT IHMHUY W21 YHTT HZX VI STINIXT XIXAT XT OXTE AYIX X1 XTHIUST @ IVINT AYZIX @XIXT X1 e PULEE SE v LA

HE | Wt g1
13:1728 ::17: 7
Ans X 1.2043
X 2.3218
7 3.4096
75 4.1928

Question ID : 65497842174
Status : Answered
Chosen Option : 3

Q.22 IF T ey T 99 o3 o T 7T Ta)f B 9 A § gufar & Ry wa & 3 eidsh
Yo # Hieg B1a &1

1. Malice

2. Malignant
3. Mallows

4. Malfunction
5. Malware

Ans X 1.4,1,2,5,3
252.1,4,3,25
«”3.4,1,2,3,5
75 4.4,2,1,3,5

Question ID : 65497842970
Status : Answered
Chosen Option : 3




Seev TR g1 §1Fd % &7 HATHAEAATH @Y FT gl Wlel Sl 9 g d9lFd hal g e ? Dt

Ans

U

el [Tl
1 E a |
& 2. i °
X3| N L
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Question ID : 65497842179
Status : Answered
Chosen Option : 2

Q.24 for=ifehe Yo @1 ergde srera oY 3R fau T fawet § & S0 S o1 7a B St
TOH TyaES g (7) P M R o ol 2

Ans

12 36 60

72346341298715

129 14
K14
X 22
3.3
K 4.5

Question ID : 65497842883
Status : Not Answered
Chosen Option : --
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Ans 7 1.VFJ

X 2. VGK

* 3. UGF

% 4. UEK
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Question ID : 65497842770
Status : Answered
Chosen Option : 1

Section : General Awareness

Ans 7 1. TUuEId (Flipflopi)
< 2. fegidh (Triptropi)

7 3. fsqosadt (Blipblopi)
< 4. et (Snipsnopi)

Q.1 , T e A wifers Fuk O o+t gfiar 3t ueed wreste 8, RrawT sixa nermRy
H WP TgWul & IR § ) 3t IR e e

Question ID : 65497842193
Status : Answered
Chosen Option : 1

Ans 7 1.2005 - 2015
% 2.1972 - 1982
2 3.1983 - 1993
< 4.1994 - 2004

Q.2 fgfifea ¥ 9 59 g2 &) Ggad AP TERIUT §IRT diex BR A5 (Water for life)' &
S & fore SiaRisia g2 & U # Hifvd far war ur?

Question ID : 65497842800
Status : Not Answered
Chosen Option : --

Ans X 1. R DA
2. TeE
X 3 DI Sa.
< 4. T JgRT

Q3 IR 4 F S 3T Qe g 7 w82

Question ID : 65497842702
Status : Answered
Chosen Option : 2




N YIRIM NIVIC LULTLL M2 HIMUITTHE Y2 DTN, 192071 XTYNHITIY QIA Y7 ST 1 W21 TMIETTY S 92 K

R T T g7
Ans 7 1.4

X 2.Uug

X 3.d

X 4.9

Question ID : 65497842695
Status : Answered
Chosen Option : 1

Q.5 TS Wiey Uoiae 2020 & AR, HRA & S Td&iur 2021 § 3¢ e yad= &
URA PP 7122

Ans X 1. 79
K 2. 56

3. 74
K 4. 62

Question ID : 65497842795
Status : Not Answered
Chosen Option : --

Q.6 Hagsd R - O Tiie, W, NidH, Yegale, 3R iR e - Sy A @ W §,
U B U S AT B SERINd PRA E IR pA W g1 AU wEae gl

Ans X 1. QIRAY (porins)
7 2. 3STH (imbibants)
< 3. TUIWRSH (apoplasts)
K 4. HIRETA (combustibles)

Question ID : 65497842899
Status : Answered
Chosen Option : 2

Q7 ﬁ;r%rﬁ@aﬁﬁﬁ»‘%zom F WIEER TS (ACES) REPR H g¥1% $T qd9ts faanst
@afdre R-siefie Q) T frar mar ur?

Ans X1.ﬁ‘c’l?ﬂ'5’ﬂ?wl
< 2. fafed oy ot
7 3. [ aire
7< 4. HIHRA SIS

Question ID : 65497842816
Status : Not Answered
Chosen Option : --




NV PR IMYIR VIUITIYA YUY AL N A I A TR 1N

Ans 7 1.1955
< 2.1952
7% 3.1953
< 4.1956

Question ID : 65497842206
Status : Answered
Chosen Option : 4

Q9 YR TIUTIEI DI HESUG B! AU AET ST 8
Ans X 1. @i

K 2.7

7 3. 8T

X 4.9

Question ID : 65497842907
Status : Answered
Chosen Option : 3

Q.10 ygar Rrer, e AdaR 2020 A e €1 mar, @) weel Afgar weaure <
Ans X 1. fieiRA

7 2.7l

X 3. fga

X 4. giamn

Question ID : 65497842204
Status : Not Answered
Chosen Option : --

Q.11 M AR R, J5q WR-URT AR AT WR-YCIF A ___ T &1 v g g1
Ans X 1.Q

K 2.9R

X3

7 4.9

Question ID : 65497842906
Status : Answered
Chosen Option : 4

Q12 fre_ ¥ dam Mo & fw aoik o1 664 frerthr ReeR & awafaa far man
Ans X 1. sl

K 2. 4Ts

NI W

7 4. BUS

Question ID : 65497842708
Status : Answered
Chosen Option : 2
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ITTAINITESC A X7 Y2071 X1/ Y41 XIpl @/ ¢

I- el i RRBR, YR TRER RT 1995 A RITIA T e

R@R Bl
% U REPR AP, T, YT, Sf, 2 a7 foiv1 35t wrars fop o woft safermay & fore

I11- af 2020 71 i AT RPBR SEY G YollgR TG B Y™ fbar mri
< 1. Pad |

2 2. %ad Il
* 3. %adI 3R
& 4. 1L 1eR
Question ID :
Status :

65497842811
Not Answered

Chosen Option : --

Q.14 fa1 w=ft foreferm WarR=or A 1 g9ie 202122 & Y90 & i auf # 37w R H )

Ans

TRICTSd YT RIS B3 BT FIvur @1
1.9
X 2.ug
* 3.
X 4=
Question ID :
Status

Chosen Option :

65497842188

: Answered

1

Q.15 YR AU P 619 E=MYT A |

Ans

2< 1. 3RPUET YR Bl TRt Iro SA13f F Sgfera Sifedt & forg e 3 ge &t
7 2. HAGH Bt 31 21 J GeTaR 18 ay &I ol

X 3. TRURYE & MHR HI [qUrh Gl &1 I- & 15% qb it B faar oa

X 4. 3ffSar 3t wrg e faar ot

Question ID :
Status :
Chosen Option :

65497842712
Answered
2

Q.16 YRd ¥ Ifge™ # 7 F Hifa Az Rrsial i Tfqem & forar mam AT

Ans

X 1. sifeefern &
X 2WAH
X 3TdF
7 4. STRTIS &
Question ID :
Status :

Chosen Option :

65497842915
Answered
4




Ans

K 1. TS Hod

¥ 2. AR 3R
¥ 3. die A
7 4. FRA R

N 10 ITTAINIIEC 1 XT 19X RIS VT UYWIXT 7T Y SHIC WKL JTIOX (Clawlilily Oruer) S 1Yl «l,

¥ qgd RN 31 314-9 & 96 WA gU el | [OIRAT gSdT U1?

Question ID : 65497842202
Status : Not Answered
Chosen Option : --

Ans

UpeTet UTaT
pH | T 82

X 1. 35-55
2. 65-85
X3 45-95
/N 4.55-75

Q.18 Fgig Yuid |1S, BIS (1S_10500 mmwlsmsoo 2012) ¥ IR, THIHH
R MeeTa & fafd=i & orgaR, WRd § Yaere

fafrd=r o1 witerd

Question ID : 65497842802
Status : Not Answered
Chosen Option : --

Question ID : 65497844207
Status : Not Answered
Chosen Option : --

Ans

& 1.9
7 2. glgmr it
7< 3. 9UH

¥ 4. RIMR

Q.20 faffea & A 6w 3 3 ITTF Gewaera daa o evam) afger fay %9 2020 Bt
Torart @t <ft?

Question ID : 65497844229
Status : Not Answered
Chosen Option : --




Nt ITTAINITEC 9 X WIT=XT1 (sl W MY <XEET YTy el e s

Ans 1. &GO Bl A P feIg el SfmeRor & St

7 2. 9dg oIdt ot iz a1 & U ofR 3RA & UaTg & 91y yRaad ot i &l FRifa
PR BT B AT §
7< 3. 5 B fawe J e & forg R afa &1 Fafor

X 4. YTGT YU & 1 Tl eI & fere gors AT

Question ID : 65497844218
Status : Not Answered
Chosen Option : --

Q.22 T fafkre 'yug Aedt WM | Heifta 71
Ans X 1. 3[oRIal

7 2. TR

23 3. AERT

¥ 4. ST

Question ID : 65497842893
Status : Not Answered

Chosen Option : --

Q.23 | & A B A TR P TP TSR T8l 872
Ans 1. foamge™

X 2. o

X 3. Hlflet

X 4.

Question ID : 65497844211
Status : Answered
Chosen Option : 1

Q.24 P YR wWasar ST § & fe midtard Rigial & ufy st & R mish g8
(gt wigen widh) w1 S 412
Ans 7 1. HMA BIORT

¥ 2. AT
K 3. HHA AT
7 4. e dargeH

Question ID : 65497844221
Status : Not Answered
Chosen Option : --




Neew ITTAINIIEC 11 X7 YT XTI QU0 <Y 1Y ASHIGOY (TO0L apical BTSN Y2 91y Wi X< o, Vil

qeHe (cortex) BY 9 qal 82
Ans X 1. SHCNM (Dermatogen)

< 2. @R (Plerome)
7< 3. HAYISH (Calyptrogen)
4. URSeH (Periblem)

Question ID : 65497842700
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

Q1 v afFa & 3o # 50% # 3f¥ g R A F 50% Fr = g5 30 B viowa @i w wwr ga?
Ans X 1. 50% T ST

/2 25% R e

X3 20% =T oM

X4 30% r gifer

Question ID : 65497844236
Status : Answered
Chosen Option : 2

Q2 o 18 m & B el deR & wen O R 8 ¥ R W ok deR & @ a o 30° B e
YR §ER ¥ Rl T (m #) 7

Ans K1 9'\/@
X2 1843
s3 9
<418

Question ID : 65497842837
Status : Answered
Chosen Option : 1




Fear (et #) Fr gl 5
T B 3 D 7 o et fraer gar (st #) e €2

CI‘EET

B YSIRRIEr Zar
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Ans 1, 45

X2 3.25

3 3.5

X4 425

Question ID : 65497842434
Status : Answered
Chosen Option : 3

Q.4

TR S (% 3) R @
Ans % 1. 16,548
v 2 16,232
X3.13,428
X4 18,342

62,500 Fr TR T TedeF 8 AIE & THIe g el 12% e 2o &X & & aut 7w

Question ID : 65497842926
Status : Answered
Chosen Option : 2

Ans % 1. 5Q
X2 85
V3. B3
x4 72

Q5 gfr a?+p2=65 ¥ ab=8,a>b>0 &, & a®—b? F AT TS BT

Question ID : 65497842224
Status : Answered
Chosen Option : 3




NGV (rdrlieng UM bl HEAU chd JIL I GG IGY 4V WA enl 3ok Gl TULn L GIsUT LAUTS

35

%

2 70

T3y & g
& \&u

_

i moel (3 )
450 & oA Eren Al arer AR B o HEaw W, 3650 X swE 3w B Aeed ST sfAwt
e HEAr ¥ Ao #4240 87

l: %

<

Ans K1.3:5
X2.1:4
73 6:7
X457

Question ID : 65497842942
Status : Answered
Chosen Option : 3

Q7 [(545+3%><i _3 +(34_+i4 Ofég) of 1% v £ |

12 16 7 1

Ans
x1.2
32

7
2
32

X3 >
32

‘?(4_.E
32

Question ID : 65497842819
Status : Answered
Chosen Option : 2

Q8 afy #t siw arer W 485x3678y 72 ¥ e €, & x & WEW O AW F fw (2y - 3x) & AR
T g9

Ans ;1. 8
X2 6
X3 11
X4 9

Question ID : 65497844231
Status : Answered
Chosen Option : 1




W Uch 3€hlﬂql( Uen CH'('I “oshy HN N X70 Sidch H(’q Fiehel coidl g I Slcha H("q M U0 ¢l BC

mﬁﬁw%lﬁﬁ48%ﬁﬁﬁm% H\‘xaa"rm?rwr%?

Ans %1, 2]
X2 7
3 8
K45

Ans o 1, A0

V2 36

X3 35

X4 30

Question ID : 65497844662
Status : Answered
Chosen Option : 2

Q.10

A 3RB @3 :5 FygUaH g I TR T AIET YT 4TI T AL H A6 A STEETH
TR 2 AT AR FHA A o ATH F AT T F AT TR 2 1 5 F AT AMANCAGI;NNA &
T AT & 918 39=T O J9w forr ar?

Question ID : 65497842218
Status : Answered
Chosen Option : 3

W—Bﬁﬁ?{‘m

Ans X1 2196
2924
K3 482
#4880

Q1 7 em fasar 3R 7 cm S e U A g F, TedF 7 om A TS arer @ S el & wwer
Rt 7 om T2 &7 T S deleT el STT| el T 9w geard kel (emé &) frae €7

Question ID : 65497843737
Status : Answered
Chosen Option : 2

Q.12

Ans % 1, 5
X2 7
X3 8
4 9

g x* — 792+ 1 =08, ar x+x1 T AT FTHT Thaar grem?

Question ID : 65497842728
Status : Answered
Chosen Option : 4




N dv HIY ch Hplel H GeliY ol HidiGe Siddel KDV ehl ehHIS <hl| Mg 1O IGml H ddch] AHd ehHIG <490 2l

i a1g % 15 RS & sudr sitwa w8 3505 o1 18 AW F, 3HF 17 AN Fr Hiod &1 7 FAE F
350 HOF FAraTl 18 A FF 36 fvaaw (3 H) FAE,?

AN X1 498
v 2 502
X3 500
X 4. 501

Question ID : 65497843729
Status : Answered
Chosen Option : 2

Q.14 400 3T 500 ¥ dr=r & 37 GEIRT F A R E, B 6, 12 3 16 ¥ RwRE =R W B dmwa
e awar &2

Ans % 1. QB0
<2 1024
<3 480
4 912

Question ID : 65497842818
Status : Answered
Chosen Option : 4

Q15 o o Wit & Bl S & Rt st (A & E) F FF e S wEiEt fr g g 5
Reor R wr ¥ wHeEt f g wear = 2400 §

IR ey C F R FHERG #1 Wi 20% § AR E F ARer sHaiiat & afwd 40% & & €
# wfyer wFmfEt & e #71, C F Afgor AR f Tew F wgaa e 32

Ans X1.3:8
X25:4
<3 2.3
K43:2

Question ID : 65497842839
Status : Answered
Chosen Option : 3




WtV %E O T UF 99 A SO AB 1 AB & THRET 8T 3R g9 W & g C 3N D 5W WER § 16
£CAB = 52° 3ilx £ABD = 47° ¥1 +CAD 3t £CBD & #mt & 3@t (B ) w1 &2

Ans ;110
X3 20
X 4. 25

Question ID : 65497842932
Status : Answered
Chosen Option : 1

QA7 (s mirareer BT 1 259,620 F AT 9T I AT 8.4% ¥ TS WIoT T FAHeT (3 F) R 2
Ans ~1. 55,000

X2 45000

X3 52,000

X 4. 50,000

Question ID : 65497842722
Status : Answered
Chosen Option : 1

Q.18 Zr 2o FAWIR TeRat 9X vas & fEar & mAen 80 kmih 3T 90 kmth #r wmer & wer w@r §1 34 3
e & v gy # 9R e §1 ol ok 3 A olars 230 m §, O g@d &7 ¥ T (m H) w2

Ans 1. 270
X 2. 300
X3 230
X4 250

Question ID : 65497842221
Status : Answered
Chosen Option : 1

Q19 3fE cosecA=secB ¥, Sl A X B =7 F0r §, & (A + B) T A FT &2
Ans . 51, 135°

F 2 E

3. 90°

X4 450

Question ID : 65497842229
Status : Answered
Chosen Option : 3




Weev JeiEdlldhd Jlepld H, AL HIVT DAC &l JAGQIGANSA hidl g1 BL b eidlg (Cm H) ¥ld hiTsvl

.‘&
-3

Question ID : 65497842227
Status : Answered
Chosen Option : 2

Q.21 o TX & & R &1 TEeT 99X I 45 e § AR g TSR Hed 90 fAEe F e & Ree
& &1 i g o owm @ @ TR At &, & @9 TR o Iy et e Y Reeey 3
foretem AT ([Aeet #) &2

Ans ¢ 1, 15
X2 40
X3 45
4 30

Question ID : 65497842725
Status : Answered
Chosen Option : 4

Q.22 o sln0-3sinty2 1%, el 0°< 6 <90° &, @ (cos20— sin30 + cosec2) FT AF T &2

cos?0

Ans

I —3+ 443
6

x o 3+H4V3
6

‘Xs._w
6

?(4.,M
6

Question ID : 65497842735
Status : Answered
Chosen Option : 1




WeLw chg W odlel Ceh ot ¢hl gl AN AD HIL LU g, SR eI AU g1 HIU QgIV Glld Y, AD Sl WL IQ3 r

¥ et §1 3R <DAP = 27°, £APD = 35° &, & 2DBC 1 AT (Rl #) fraar §72

Ans

Ans > 1. 32
7 2. 28
Question ID : 65497844246
Status : Not Answered
Chosen Option : --
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Question ID : 65497844355
Status : Answered
Chosen Option : 4
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Question ID : 65497842733
Status : Not Answered
Chosen Option : --
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Q.1 Select the most appropriate synonym of the given word.
Amusement

Ans 7 1. Pleasure

7% 2. Despair

75 3. Gloom

< 4. Boredom

Question ID : 65497842858
Status : Answered
Chosen Option : 1

Q.2 Select the option that expresses the given sentence in active voice.

Tall promises were being made by each promoter.
Ans X 1. Each promoter has been making tall promises.
«# 2. Each promoter was making tall promises.

2% 3. Each promoter has made tall promises.

2% 4. Each promoter made tall promises.

Question ID : 65497842241
Status : Answered
Chosen Option : 2

Q.3 Select the option that expresses the given sentence in passive voice.

She is looking after the old ladies with great affection.

Ans 7 1. The old ladies are being looked after with great affection.
7% 2. She is looked after with great affection by the old ladies.
2% 3. The old ladies are looked after with great affection.

< 4. The old ladies were looked after with great affection.

Question ID : 65497842846
Status : Answered
Chosen Option : 1

Q.4 Select the option that can be used as a one-word substitute for the given group of
words.

A person who works in a shop that sells cut flowers and plants
Ans X 1.Vendor
% 2. Dealer
< 3. Hawker
4. Florist

Question ID : 65497842258
Status : Answered

Chosen Option : 4
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error. Identify the segment that contains a grammatical error. If you don’t find any
error, mark ‘No error’ as your answer.

e

Among you and me / she is quite rude / to the boy.
Ans X 1.sheis quite rude

25 2. No error
7 3. Among you and me
25 4. to the boy

Question ID : 65497842238
Status : Answered
Chosen Option : 3

Q.6 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. Expert mechanics labored over the plane for three hours.

B. A small nut had fallen into a channel which prevented the gear from moving.

C.A huge plane was forced to crash land when its landing gear got stuck.

D. They were amazed when they discovered what had caused the mechanical failure.

Ans X 1.BADC
< 2. ACBD
«” 3.CADB
% 4. DBAC

Question ID : 65497842857
Status : Answered
Chosen Option : 3

Q.7 Select the most appropriate ANTONYM of the given word.
Proclaim
Ans X 1. Exhibit
<7 2. Conceal
7% 3. Evince
2% 4. Announce

Question ID : 65497842962
Status : Answered
Chosen Option : 2

Q.8 Select the most appropriate synonym of the given word.
Livid
Ans 7 1. Furious
X 2. Pale
7% 3. Closed
25 4. Clear

Question ID : 65497842253
Status : Marked For Review
Chosen Option : 2
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Refined
Ans 1. Crude

7% 2. Precise
7% 3. Genteel
25 4. Miserly

Question ID : 65497844274
Status : Marked For Review

Chosen Option : 1

Q.10 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

| do not/ like to read / these kind / of novels.
Ans (7 1. these kind

75 2. like to read

< 3.1do not

23 4. of novels

Question ID : 65497842946
Status : Answered

Chosen Option : 1

Q.11 Select the option that expresses the given sentence in indirect speech.
He said to me, “Do you own this beautiful car?”

Ans X 1. He asked me did | own that beautiful car.

7% 2. He asked to me if you own that beautiful car.

#< 3. He asked me that if you owned this beautiful car.

«/ 4. He asked me if | owned that beautiful car.

Question ID : 65497842955
Status : Answered
Chosen Option : 4

Q.12 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement'.

We had to undergo a great many difficulties.
Ans X 1. much great difficulties

</ 2. No improvement
#< 3. agreat many difficulty
25 4. great many difficulties

Question ID : 65497842856
Status : Marked For Review

Chosen Option : 1
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contains a grammatical error.

Shall / we go / for walking / in the park?
Ans X 1.wego

2% 2.in the park
7 3. for walking
< 4. Shall

Question ID : 65497843044
Status : Marked For Review
Chosen Option : 4

Q.14 Select the most appropriate meaning of the given idiom.

Feast one’s eyes on
Ans X 1. Arrange a delicious meal

7% 2. Notice something alarming
«/ 3. Gaze at something with pleasure

#< 4. Prepare a rare delicacy

Question ID : 65497842964
Status : Answered
Chosen Option : 3

Q.15 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement'.

You are so far the bright student in the class.
Ans X 1. Noimprovement
2% 2. so far most bright
« 3. by far the brightest
7<% 4. by so far the brighter

Question ID : 65497844269
Status : Answered
Chosen Option : 2

Q.16 Select the most appropriate meaning of the given idiom.

Cold comfort
Ans X 1. Enjoyment in the hills
2% 2. Unbearable weather
< 3. Very little satisfaction
25 4. Very soothing

Question ID : 65497844276
Status : Answered
Chosen Option : 3
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error, mark ‘No error’ as your answer.

Ans 7 1. on the promotion

2% 2. Vivek should be excited
< 3. No error

< 4. he's got

Vivek should be excited / on the promotion / he’s got.
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Select the part that contains the error from the given options. If you don’t find any

Question ID : 65497843549
Status : Answered
Chosen Option : 4

Ans X 1.is

2% 2. being
/ 3.tobe
75 4. for being

Q.18 Select the most appropriate option to fill in the blank.

Can you arrange for the consignment delivered on Monday?

Question ID : 65497842766
Status : Answered
Chosen Option : 3

words.
Policy of racial discrimination
Ans #X 1. Diplomacy
X 2. Commonwealth
7% 3. Non-alignment
<7 4. Apartheid

Q.19 Select the option that can be used as a one-word substitute for the given group of

Question ID : 65497842764
Status : Answered
Chosen Option : 4

Ans ¢ 1. Altarnate
75 2. Allotted
2% 3. Alphabet
25 4. Allergic

Q.20 Select the INCORRECTLY spelt word.

Question ID : 65497842260
Status : Marked For Review
Chosen Option : 1




VU CHGHISIVIT.

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Dance as an artistic form of (1) is extremely old. Evidence of dance as a (2)

form is available in ancient literary texts, painting and sculpture. (3) of the dance

forms trace their roots to the (4) of movement codified in the Natya Shastra (5)
by Bharat Muni.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank no.1.
Ans X 1. suggestion
75 2. succession
</ 3. expression
< 4. impression
Question ID : 65497842748
Status : Answered
Chosen Option : 3
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Dance as an artistic form of (1) is extremely old. Evidence of dance as a (2)
form is available in ancient literary texts, painting and sculpture. (3) of the dance
forms trace their roots to the (4) of movement codified in the Natya Shastra (5)
by Bharat Muni.
SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no.2.
Ans 7 1. creative

7% 2. created
7% 3. creating
25 4. creation

Question ID : 65497842749
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Dance as an artistic form of (1) is extremely old. Evidence of dance as a (2)
form is available in ancient literary texts, painting and sculpture. (3) of the dance
forms trace their roots to the (4) of movement codified in the Natya Shastra (5)

by Bharat Muni.
SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank no.3.

Ans

25 1. More
5 2. Any

« 3. Many
% 4. Much

Question ID : 65497842750
Status : Answered
Chosen Option : 3




Q.24
Ans

VU CHGHISIVIT.

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Dance as an artistic form of (1) is extremely old. Evidence of dance as a (2)

form is available in ancient literary texts, painting and sculpture. (3) of the dance

forms trace their roots to the (4) of movement codified in the Natya Shastra (5)
by Bharat Muni.

SubQuestion No : 24
Select the most appropriate option to fill in blank no.4.

7% 1. capacity
75 2. procedure
<7 3. techniques

% 4. delivery

Question ID : 65497842751
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Dance as an artistic form of (1) is extremely old. Evidence of dance as a (2)

form is available in ancient literary texts, painting and sculpture. (3) of the dance

forms trace their roots to the (4) of movement codified in the Natya Shastra (5)
by Bharat Muni.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no.5.

Ans

< 1. disbursed
<7 2. compiled
7% 3. captured

25 4. dispersed

Question ID : 65497842752
Status : Answered
Chosen Option : 2




